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Question Number : 1 Question Id : 581527781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Secure Shell (SSH) uses model.

Options:
1 #% distributed

> « client server
= % centralized

4 % Deerto peer

Question Number : 1 Question Id : 581527781 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
B AT (SSH) ATseT & 39U HIAT ¢

Options:

|« STEEEes

= £
o o FOBE HH

s » AgeEsS

ok 9T € 9K

Question Number : 2 Question Id : 581527782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
i5 0 UNIX command which allows an anthorized vser ta login to other UNIX machines (hosts) on s network and
lo interact as if the user were phvsicallv-ar the host compurear.
Options:
, « Rlogin

> u Plogin

5 # Nlogin

4 » Rlog



Question Number : 2 Question Id : 581527782 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
. Rlogin

-, % Plogin

5 % Nlogin

4 » Rleg

Question Number : 3 Question Id : 581527783 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the location of the collection of icons used for folders?
Options:
rol Srot o)
;v Ci'Windows!\System32

> % C:i\Program Files\Windows

- » C:\Program Files\Temp

4 ® Cr\Users'Windows\System32

Question Number : 3 Question Id : 581527783 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Brest & 0T ¥ F= F fOT 399 5T 7T HEeT F Hag 7 T F4T 87
Options:

v C\Windows\System32

o % C:\Program Files\Windows

- » Ci\Program Files\Temp

4 » Ci\Users\Windows\System32



Question Number : 4 Question Id : 581527784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Mounting of a file system means:

Options:

, w Ccreating a file system.

- % deleting a file system.
-  attaching portion of a file system into a directory structure.

4 % Tremoving portion of a file system from a directory structure.

Question Number : 4 Question Id : 581527784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 5 Question Id : 581527785 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following holds the ROM, CPU, RAM and expansion cards?

Options:
1 % Hard disk
> w Floppy disk

= « Motherboard

4 % Drivers

Question Number : 5 Question Id : 581527785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 6 Question Id : 581527786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
“Qtr 1, Qtr 2, Qtr 3" in Microsoft Excel is an example of a

Options:
1 % formula

- % function
3 o Series

4 % Syntax

Question Number : 6 Question Id : 581527786 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

Question Number : 7 Question Id : 581527787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following keys allows you to move the cursor along a line to a preset point?

Options:



, = Enter key

>  labkey
5 % Shiftkey

4 » Home key

Question Number : 7 Question Id : 581527787 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 8 Question Id : 581527788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which vear was the Leibniz calculator built?

Options:
1 v 1671

> % 1679
2 % 1946

4 % 1801

Question Number : 8 Question Id : 581527788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A
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Options:

| v 1671




. % 1679
- = 1946

4 % 1801

Question Number : 9 Question Id : 581527789 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A printer makes use of metal in its print head to create imprints in the form of dots.

Options:
1 + dot matrix

> % bubble-jet

2z % laser

4 % thermal

Question Number : 9 Question Id : 581527789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 10 Question Id : 581527790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is the fastest memory?

Options:
1 % Hard disc

> % DVDROM

5  Cache memory



4 % RAM

Question Number : 10 Question Id : 581527790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

1 . ars 3%
. w SHETST IH (DVD ROM)

. v ¥ A

. % RAM

Question Number : 11 Question Id : 581527791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is NOT a computer language?

Options:
, » High-level language
» % Machine language

s u Low-level language

i Medmum-level language

Question Number : 11 Question Id : 581527791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 12 Question Id : 581527792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Memory socket in a motherboard contains

Options:
i « RAM

- % Hard disc
= % Data card

4 # Capacitors

Question Number : 12 Question Id : 581527792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 13 Question Id : 581527793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT an Operating System?

Options:
1 % Windows 10

> « MS-Office
3z % Linux

4 % Mac

Question Number : 13 Question Id : 581527793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, % TS 10 (Windows 10)
, » TH-TH HE (MS-Office)
. w foeFd (Linux)

, « 7% (Mac)

Question Number : 14 Question Id : 581527794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In its initial configuration, which of the following is NOT a part of the taskbar in Windows 10?

Options:
, % Quick Launch panel

» % Shorteut panel
= # Notification area

4 + Control Panel

Question Number : 14 Question Id : 581527794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 15 Question Id : 581527795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT a network topology?

Options:



1 « Circle
-~ % Bus
= % Star

4 ® Mesh

Question Number : 15 Question Id : 581527795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 16 Question Id : 581527796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In MS Word, a page break can be introduced by:

Options:
, = Positioning the cursor at the appropriate place and pressing the F1 key.

o « Using Insert/Page Break.
- % positioning the cursor at the appropriate place and pressing Alt + Enter.

4 % changing the font size of the document.

Question Number : 16 Question Id : 581527796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 17 Question Id : 581527797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is the program vour personal computer uses to get the computer svstem started after you tum it
17

Options:

1 « Boot

> % Source code
- % Initialisation

4 % Antivirus

Question Number : 17 Question Id : 581527797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
@ AT FIET A w0 § A FEEEE JH T 9 s e 96 50, g TS 9w
F1 & fBT Zomhe w1 37

Options:
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Question Number : 18 Question Id : 581527798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which printer prints data or image by spraving small droplets of ink at high speed onto the surface of the paper?
Options:

, « 10K Jet printer

> % Laser printer



5 » Dot Matrix printer

4 ®% Drum printer

Question Number : 18 Question Id : 581527798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 19 Question Id : 581527799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When you click on ‘Format Painter® button, you can see that your mouse pointer changes to a/an icon.

Options:
1 paintbrush

> % I-beam
5 #% arrow

4 8 4-way arrow

Question Number : 19 Question Id : 581527799 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 20 Question Id : 581527800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
are the programs that provide access to Web resources.

Options:
1 B JAVA

5 % HIML
- % DHIML

4 « Browsers

Question Number : 20 Question Id : 581527800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

% JAVA

. « HTML
- » DHTML

4 « Browsers

Question Number : 21 Question Id : 581527801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
For navigating any website, a user has to enter which of the following?

Options:
1.+ URL
> % FIP

- % PPP

4 # HTML



Question Number : 21 Question Id : 581527801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, « URL
> % FTP
- % PPP

. % HTML

Question Number : 22 Question Id : 581527802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

are specialised software that allows particular input or output devices to communicate with the rest of the
computer system.

Options:
1 « Device drivers

> % Utilities
=z B 0Ss

4 % Application software

Question Number : 22 Question Id : 581527802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, » 29=H gEaT (Device drivers)
S saafame/gfefod= (Utilities)
. = JL.TH. (OS)

o ATFeaT (Application software)

Question Number : 23 Question Id : 581527803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
In which of the following ways the CPU reads the information from secondary memory?

Options:
. + Firstinformation is transferred to main memory and from there, the CPU reads.

» % Directly

- u [Ihrough registers

4 % Through ROM

Question Number : 23 Question Id : 581527803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 24 Question Id : 581527804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Restarting a computer that is already on is referred to as
Options:

1 % shut down

» % cold booting

-  Warm booting

4 % logging off

Question Number : 24 Question Id : 581527804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 25 Question Id : 581527805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Servers are computers that provide resources to other computers which are connected to a

Options:
1 « network

> % mainframe

- % super computers

4 % clients

Question Number : 25 Question Id : 581527805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 26 Question Id : 581527806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Internet banking means

Options:



, % meeting of banks
> w merging

2 o banking from internet

4 % conference of banks

Question Number : 26 Question Id : 581527806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Question Number : 27 Question Id : 581527807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
uses HTTP.

Options:
1 # Workbook

> # File Server
= # Worksheet

. Web page

Question Number : 27 Question Id : 581527807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Question Number : 28 Question Id : 581527808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A view in PowerPoint 2016 which displays thumbnail of each slide in vour presentation to make rearrangement easier is

Options:
1 « Slide sorter

> # Slide show
= % Slide master

4 % Notes page

Question Number : 28 Question Id : 581527808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 29 Question Id : 581527809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which tab in PowerPoint 2016 is used to insert the video from a file?
Options:

, « Insert tab of media group



- % Insert tab of symbols group

- u Home tab of editing group

4 % Insert tab of images group

Question Number : 29 Question Id : 581527809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 30 Question Id : 581527810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
By default, Excel the text in a cell.

Options:
| « left-aligns

-~ » right-aligns
- % center aligns

4 w Justifies

Question Number : 30 Question Id : 581527810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 31 Question Id : 581527811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following rules for range names is INCORRECT?

Options:
1 # Names cannot be the same as a cell reference.

-  Inarange name you are allowed to use spaces or commas.
- % Range names can be directly used in formulas.

4 % The only separators allowed are underscore characters and/or periods between words.

Question Number : 31 Question Id : 581527811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 32 Question Id : 581527812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is a solution to insert graphic images in word processors?

Options:
, « ClipArt

> # WordAut



o % DropCap

4 » Hyperlink

Question Number : 32 Question Id : 581527812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 33 Question Id : 581527813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In word document, alignment refers to the position of text relative to the:

Options:
|  margins

-~ % paragraphs
= % header

4 % footer

Question Number : 33 Question Id : 581527813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 34 Question Id : 581527814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
You can edit a cell by:

Options:
, % clicking the formula button

-  double-clicking the cell
- » selecting Edit > Edit cell from the menu

4 % Dby pressing F1 button

Question Number : 34 Question Id : 581527814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
3 T ¥ s @R v A9 7 ufEe T awa 2

Options:

| PIFIEN e W Fo

o el 9T S8l TFeleh b

.« ¥ ¥ Edit > Edit 3 FT 77T =H

4 % F1 8&a game

Question Number : 35 Question Id : 581527815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
begins at the root and follows a path down to the specified file.

Options:
, w Relative path name

o  Absolute path name
« Standalone path name

>

, % Internet path name



Question Number : 35 Question Id : 581527815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T T E & § AR Tfese wEer F 3w T F Eor e g

Options:
| % TTIET 9 F ATH

o TIE TU F AH
-« TEEHONA 97 ATH

, % ST T T AH

Question Number : 36 Question Id : 581527816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT a financial function in Excel?

Options:
1 ® FV{ )
> % NPV()

2« SUM()

. % PMT(Q)

Question Number : 36 Question Id : 581527816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Excel § & ®id @1 Bedg F1&7 a8 §7?
T_pt:nsf';VU

.« NPV()

2 v SUM()

, x PMT(

Question Number : 37 Question Id : 581527817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
What is MP3?

Options:

1 #% A mouse

5 % A printer
= « A sound format

4 % A scanner

Question Number : 37 Question Id : 581527817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MP3 T g1ar 87

Options:
, % U HBHE

- v T 3T HHE

4 ® WﬁmT

Question Number : 38 Question Id : 581527818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

programs guard your computer system against viruses or other damaging programs.
Options:
1« Anfivirus

- # Backup
% % Uninstall

4 % Disk cleanup

Question Number : 38 Question Id : 581527818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
SR SERE TT 37 R FLHAN & [958 Tk Heged [GeeH I BT Hd ¢l

Options:



5 % SRHT
L x ST

4 ® %FFEF@I?FHEF

Question Number : 39 Question Id : 581527819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
partition also enables the users to assign disk quotas for volume.

Options:
1 ® CDFS

> % FAT16
5 % FAT32

4 « NTFS

Question Number : 39 Question Id : 581527819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TEle ITARTRAIS! H AeqH & o BEE Fler HEET FT A FEIH g4 ¢

Options:

, % CDFS
., » FAT16
. = FAT32

.« NTFS

Question Number : 40 Question Id : 581527820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which file format is used to save Program data?

Options:
1% prd

> o dat



T & [}d

4 % pdat

Question Number : 40 Question Id : 581527820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
YHEITH 22T & Hgold & [0 Fid ¥ WS BIHS FT 39AET Far Sar g2

Options:

| = prd
o o dat
= W pd

4 % pdat

Question Number : 41 Question Id : 581527821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which file format is used to save Corel PHOTOPAINT bitmap file?

Options:
| % cpbtm

5 o CPt
= % cpbt

4 % cppbt

Question Number : 41 Question Id : 581527821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Corel PHOTOPAINT bitmap WTSal I Hgaa & [oT HiT ¥ W= A &1 39AeT BFar Jar 82

Options:
, = cpbtm

> v CPL

5 % cpbt



4 % Cppbt

Question Number : 42 Question Id : 581527822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the key combination to Center align the text?

Options:
, ® CIRL+C
> « CTIRL+E

s % CTRL+M

4 # CIRL+T

Question Number : 42 Question Id : 581527822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TFEE F AT H Hoed e & v FHoi §aaa F47 82

Options:

, ®« CTRL + C

, ¢ CTRL + E
2 % CTRL + M

A% CTRL+ T

Question Number : 43 Question Id : 581527823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to switch a paragraph between center and left aligned?

Options:

i ®# CIRL+J
> % CTRL+L
= « CIRL+E

4 % CTRL+M

Question Number : 43 Question Id : 581527823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



RETE 7T F AR A enss # Raw e & O o waee #4 g
Options:

, % CTRL + J

, x CTRL + L

s« CTRL + E

. % CTRL + M

Question Number : 44 Question Id : 581527824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Antivirus is a software known as * * goftware.

Options:
1 « anti-malware

-~ % logic bombs

= # hardware malware

4 % companion malware

Question Number : 44 Question Id : 581527824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
TEETIH U Hoead] ¢ od " " HIFESTT F ATH @ FTAT ST g

Options:

1_JﬁF@|’-ﬂm
o> ® ollleleh aTH
. » BB HoEW

4 % HEEOA HeEa

Question Number : 45 Question Id : 581527825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of these TCP port is used to filter out Web traffic?

Options:



Question Number : 45 Question Id : 581527825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
35 b Fr heer o9 & fow R # @ 59 TCP ¢ &1 39aeT f&Far Srar 27

Options:

1 #® 25
> R 21
o ® 23

4 v 80

Question Number : 46 Question Id : 581527826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
chart without marker is suitable when there are many values that are approximate in MS Excel.

Options:
1 « Line

> ®% Area
z # Pie

4 % Radar

Question Number : 46 Question Id : 581527826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

= 7 & AC T9 39YFT &1 ¢ 7§ MS Excel H F3 7o, T 3TwT 21T 2

Options:

1.+ elge

E_Sém



S_qu

4 % 8K

Question Number : 47 Question Id : 581527827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
chart depicts a 3-D view of the data in MS Excel.

Options:
1 ®% Bar

- % Pie
3 « 3-D surface

4 ® Area

Question Number : 47 Question Id : 581527827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TIe, MS Excel & 3-D 797 vefoa &1ar £
Options:
g ® E'IT

E.QW
s v 3-D ¥hw
4 % TRT

Question Number : 48 Question Id : 581527828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

TCP assigns a sequence number to each segment that is being sent. The sequence number for each segment is the
number of the byte carried in that segment

Options:
1 « First
-~ % Last

z # Middle

4 % Zero



Question Number : 48 Question Id : 581527828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ST 5 S T Welw e & TR HewH HEAT HEsA 41 £ To0F TE F B s e 3
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Options:

1 9qH

> ® 34%'?"
= % HE

L T

Question Number : 49 Question Id : 581527829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Out of the following options, which use is NOT related to sub & super script?

Options:
1 % Use as reference marker

- % Ordinal indicators
- # For standard abbreviation

4 « Normal self-introduction

Question Number : 49 Question Id : 581527829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
e et 7 @, orwe swanT 39 #R g B & @ty F&fa 7@ 82

Options:

. % HHATT HFd®

4 v THEET A I=g

Question Number : 50 Question Id : 581527830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



1s developer of pivot table used for data summarisation in data visualization programs.

Options:
1 % Lotus

> % Micromax
5 % Macintosh

4 « Microsoft

Question Number : 50 Question Id : 581527830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

27 Torparemsete WETE ¥ 52T ARRENOT F R suher o a ae fe e w1 ige B
Options:

1 ® m
. « FRHHAFE
z ® mr

4 & 3“355 qre

Question Number : 51 Question Id : 581527831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In a network, if the signal is degraded then which device is used to boost the signal strength?

Options:
1 % Hub

> # Switch
- w Bridge

4  Repeater

Question Number : 51 Question Id : 581527831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

AT+ H, 3T B9 TIE & 47 ¢ A e & 9@ F 9w F v Gy BEEy & 39ger &
AT E7
Options:



, % B9
> x &=
5 % ToeT
4 v T

Question Number : 52 Question Id : 581527832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
divides LAN into segments.

Options:
1 % Hub

> % Switch

5  Bridge

4 % Repeater

Question Number : 52 Question Id : 581527832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

o AT F TWIHT F Futag LT B

Options:

1 ® ﬁ

i ii a4
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READING COMPREEHERMSTONM

Section Id : 58152772
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questionsto be attempted: 1

Section Marks: 5



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 58152772
Question Shuffling Allowed : Yes

Question Id : 581527833 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53to057)
Cuestion Label © Comprehension

Monks in Meditation

Three monks decided to practice meditation together. They sat by the
side of a lake and closed their eyes in concentration. Then, suddenly, the
first one stood up and said, “I forgot my mat™. He stepped onto the water
and miraculously walked across the lake to their hut on the other side.
When he returned, the second monk stood up and said.” I forgot to put
my washed clothes to dry”. He too walked calmly across the water and
returned the same way. The third monk watched the first two carefully in
what he decided must be a test of his own abilities. “Is your learning so
superior to mine? I, too, can match any feat you two can perform.” he
declared loudly and rushed to the water’s edge to cross it. He promptly
fell into the deep water. Undeterred, the wet monk climbed out of the
water and tried again and again, but failed. The other two monks
watched. After a while, the second monk turned to the first and said, *Do
yvou think we should tell him where the stones are?”

Sub questions

Question Number : 53 Question Id : 581527834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What did the three monks decide to do together?

Options:
1 ®% Wade across the water

> % Test their memory

= « Practice meditation

, % Ity out their abilities

Question Number : 54 Question Id : 581527835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Why did the first monk get up?

Options:



, w Hewas hungry.

-  He had forgotten his mat.

= % He could not concentrate.

4 % He wanted to stretch his limbs.

Question Number : 55 Question Id : 581527836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Why did the second monk stand up?

Options:
, » Hewanted to see where the first monk had gone.

- % He needed something from the hut.
- » He was disturbed by the first monk.

4  Hewanted to put his clothes to dry.

Question Number : 56 Question Id : 581527837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Why did the third monk decide to get up?
Options:

1 +« To match his skill with that of the other two

- % To cross the lake before the others
= % To swim over to the other side

4 # To show how fast he could be

Question Number : 57 Question Id : 581527838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Why were the two monks able to cross the lake
easily?
Options:
. w Their penance was superior.



o  [Ihey had stepped on stones in the shallow part.

- % They had mastered the skill of walking on water.

4 % Their powers of balancing were better.

Question Id : 581527833 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 581527834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
de et 9 v Ty Fr F # haer Rar?

Options:

 ®% 9T 9Y =T

o % HYST TEETed T IUETOT LT

- v SO & FEH AT



4 % HUST STHATHT FT IHETOT FLAT

Question Number : 54 Question Id : 581527835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ggem ey = 33 Tar?
Options:

|« T ST

E_Jagam??raa'éaf»rman

. » T8 S Hied el HL Fehl

, % T8 HIA 3 FT AT Agar o

Question Number : 55 Question Id : 581527836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
SERT fve] A WT g7
Options:
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Question Number : 56 Question Id : 581527837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
dry ey & 38 & hwer F4AT FRAr?

Options:
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Question Number : 57 Question Id : 581527838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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OUANTITATIVE AFPTITULE
Section Id : 58152773
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 58152773
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 581527839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What will come in place of question mark (?) in the following question?

V11449 x 6241 — (54)2 =7 + (74)2
Options:
| % 3844



5> o 3721
5 % 3481

4 % 3638

Question Number : 58 Question Id : 581527839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

F=ef@T ved & wea [Ea (?) & T Fi9 @7 J19 HTE?

V11449 x /6241 — (54)2 =7+ (74)?
Options:

| % 3844
ot 3724
2 # 3481

., = 3638

Question Number : 59 Question Id : 581527840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Sonika invested an amount of T 5,800 for 2 yvears. At what rate of compound interest will she ger an amount of 504,50
at the emd of two years?

Options:

1. ¢ 3%

4 % 8%

Question Number : 59 Question Id : 581527840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

IR A2 FRATise0 Ao v R st s i mafr = oo
* He H ¥ 584.50 Fr TwiEr fAeEn?

Options:

1.« 5%



- ® 4%
T ® 6%

4 ® 8%

Question Number : 60 Question Id : 581527841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What approximate value will come in place of the question mark {7) in the following question? (You are NOT expected
for caleulate the exact value)

9B% |, &5 515

T4 RED anT

P L ]

Options:
1 % 840

5 % 920
3 « 970

4 % 780

Question Number : 60 Question Id : 581527841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TraTas 939 # W39 984 (7) & T W NS A9 &4 g7 (HE WEE FA & T0ET H
#T TEeTEar A B

LE?+E-5}¢513 :?

L B9 207

Options:

, % 840
., = 920
-« 970

L % 780

Question Number : 61 Question Id : 581527842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What will come in place of question mark (?) in the given number series?

8 4 6 15 2 236.25
Options:



M
A
]
Lh

Question Number : 61 Question Id : 581527842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

fealofaa Tear guer # TiF B (?) & T Fi9 @ T dr Hwen?
8 4 6 15 ? 23825

Options:

. % 645
-« 525

Question Number : 62 Question Id : 581527843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

35% of a number is two times 75% of another number. What is the ratio of the first number to the second?
Options:

1 % 35:6

o B 3137

4  None of the given options

Question Number : 62 Question Id : 581527843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Forelr FETT F 35% WY TEW F 75% F IE 2| gE WEW F WY Ugel HEE F N9 1 27
Options:

. % 35:6



o % 31:7

2% 23:7

4&3?”#@@%3&

Question Number : 63 Question Id : 581527844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

If 40% of 60% of E of a number is 1080, then 35% of 5 of that number is:

Options:
1 ® 750

o R 87

s « 1050

L |

4 % 157

Question Number : 63 Question Id : 581527844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
mﬁ:ﬁr:ﬁw#% & 60% =T 40%, 1080 %, awa:ama:g FT 35% ToraaT B2

Options:

{ = 750

> % 870

= « 1050

4 % 1575

GEMERAL MEMNTAL ABILITY AMND EEASONIMNG

Section Id : 58152774
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
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Sub-Section 1d: 58152774
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 581527845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Answer the following question based on the arrangement given below:

YW@l&CN3IPLB9T=D*E2£MVST7#4FGS5

IfY W (@ 1 are written in the reverse order, & C N 3 are written in the reverse order and so on, then in the new
arrangement which of the following will be exactly in the middle between 9 and $ ?

Options:
Al

4 B M

Question Number : 64 Question Id : 581527845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:

1.n~f'T

Question Number : 65 Question Id : 581527846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following word will come second if all of them are arranged alphabetically as in a dictionary?

Options:
1 % Robber

- % Rocket



= % Random

4 « Restaurant

Question Number : 65 Question Id : 581527846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

1 % Robber
> % Rocket
=z % Random

4 « Restaurant

Question Number : 66 Question Id : 581527847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The following question consists of two words that have a certain relationship to each other, followed by four lettersd

pairs of words. Select thar letiered pair which has the same relationship as the original pair of words.
Shale : Geologist
Options:

, % Reef: Astrologer

- u Love: Philologist
= % Obelisk : Fireman

4 « Aster : Botanist

Question Number : 66 Question Id : 581527847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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5 % SO HWIREE
5 % THRSH-TAS : BrAHA
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Question Number : 67 Question Id : 581527848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Select the option with the most appropriate description about these three words.

Supernova : Protostar : Red Giant
Options:
1 # These are kinds of stars.

-~ % [Ihese are members of galaxies.

-  Ihese are stages in the life of star.

4 % These move about the sun.

Question Number : 67 Question Id : 581527848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 68 Question Id : 581527849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Four pairs of words are given, out of which the words in four pairs bear a certain common relationship. Chooese the pair
in which the words are differently relared.

Options:



1 ®% Mason : Wall
> % Cobbler : Shoe
5 % Farmer : Crop

4 « Chef: Cook
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In the following question, a word is represented by only one set of numbers as given in any cne of the alternatives.
The sets of oumbers given in the alternatives are represented by two classes of alphabets as in the two given marrices.
The columns and rows of Matrix I are numbered from 0 to 4 and those of Matrix 11 from 5 to 9. A letter from these
matrices can be represented first by its row and then the column mumber e.g. in the matrices for questions I ro 4, M
can be represented by 14, 21, etc; o can be represented by 20, 32, ate. Similarly you have to identify the correct set
tor the word given in the question.
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Options:
% 24,01,55,22

. « 00,01, 67,33



= » 12,13,67,23
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Options:
; » 24, 01, 55, 22
- « 00, 01, 67, 33
- % 12, 13, 67, 23
, % 43, 52, 56, 33
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Greto Garbo is a name associated with:
Options:

, w Journalism

> % literature
5  acting

4 % classical dance
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Who among the following was elected thrice as the President of the Indian National congress?

Options:
, « Dadabhai Naoroji

> % Surendranath Banerjee

- » Gopal Krishna Gokhale

4 # Shankaran Nair
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Match List-1 (Plains) with List-IT (Mode of occmrence) and select the comrect answer using the codes given below the
lists:

Lizt-1 List-IT
A Chile valley Crozion Plain
H. Cruinea plain Cilacial depositional plam
C., Russian platfonm Piedmont Plain
D. Western Europe Structural plain

R e

Options:
| & A-3,B-1,C-4,D-2

, » A-3,B-2,C-1,D4
3 » A-2,B-3,C-4,D-1

4 % A-4,B-1,C-3,D=2
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. ¢ A3, B-1, C-4, D-2
. A3, B2, C1, D4
. » A2, B-3, C4, D-1

. = A4, B1, C3, D2
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Reserve Bank of India was nationalised in the year:

Options:
1 ® 1947

> % 1948
2 « 1949

4 % 1951
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Study of blood vascular system is called:

Options:
|  Angiology

> % Agrology



5 % Anatomy

4 % Agronomy
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Consider the following foreign visitors to India:
1. Al-biruni
2. Fa-hien
3. Hiuen Tsang
4. Megasthenes
The correct chronological order in which these persons visited India is:

Options:
1 % 4-3-122
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Options:

| % 4-3-1-2
o % 2-4-3-1
2 o 4-2-3-1
4 % 1-2-4-3
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Question Number : 76 Question Id : 581527857 Question Type: TYPING TEST Display Question Number : Yes

The power of concentration manifests as focused attention and as a one pointed mind. When you focus your
rmind on sormething, you conserve your energies and do not dissipate thern on irrelevant thoughts, This is why,
developing concentration is vital for anyone, who is aspiring to be more efficient in life.



Restricted/ Unrestricted: Unrestricted

Par agraph Display: Yes

Evaluation Mode: Non Standard

Keyboard Layout: Inscript

Show Details Pandl: Yes

Show Error Count: Yes

Highlight Correct or Incorrect Words: Yes
Allow Back Space: Yes

Show Back Space Count: Yes

Actual
Group Number : 3
Group Id: 58152733
Group Maximum Duration : 15
Group Minimum Duration : 15
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 0

English typing test

Section Id : 58152777

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 58152777
Question Shuffling Allowed : No

Question Number : 77 Question Id : 581527858 Question Type: TYPING TEST Display Question Number : Yes



Surmnrmer camps are supervised camps conducted to entertain as well a5 equip students with various life skills
such as tearnwork, socializing, decision making, independent and responsible living and more. It aids the
overall development of a child and in addition to all these perks, children hawve fun during this process as they
get to explore entirely new arenas and expand their reach. This is a widely accepted drill by the schools for the
students. Here [ would like to share my owrn experience with a surmmer camp in grade 6. Our school organized
a little 3 day camp to a nearby hill station. Many of our regular teachers joined us along with hike counselors
and tour guides who were extremely experiericed in Ccamping activities. We were givern special instructions
about discipline and behaviour which has to be maintained while at a high altitude place. We started the
journey in a bus where we played team games to socialize with students from other classes. Upon reaching our
destination, we were informed about various aspects of camping and about everything we should pay
attention to it [t was a first rulti-day trip without our parents for most of us. It was a challenge as we had to
take care of ourselves and our belongings in the absence of our parents who usually complete most of these
chores for us. This taught us about living independently and taking up responsibility. While on the campsite,
all the students were divided into groups and were Jiven various tasks such as helping to set up tents,
gathering firewood and arranging food. These tasks gave us a chance to work in tearmns and know each other
well. After the hard work, we were served delicious but simple food. Once done with the dinner, every student
helped tirelessly to clean up the surrounding areas and wash the dishes. These things develop helpful nature
in the kids and inculcate a fine habit of completing their work themselves. We weare taken into the woods to
hike and explore nature and its elements. Thera we were taught about the importance of various vegetation
and we also learnt about the local wildlife. While hiking in the dense and endless woods we received a chance
to explore the intricacy and wonders of nature. The entire camping experience holds an overwhelrming amount
of life skill to learn and apply. I feel extrermely lucky to have got the chance to experience this time as it taught
me values of life. Every parent should ensure that their child spends encugh time in understanding and
exploring nature rather than indulging in techneology all the time. Nature teaches us the concept of simple
living and provides serenity to our minds in our fast moving lives.
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